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What is the period of each?
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1 cycle: graph has a total of 4 1/2 cycles

r\ 1 cycle: graph has a total of 2 cycles

What is the period of each?

Period =

This grah is 1/2 of a cycle
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Graph of y=sin® The height (y-coord) as you
move around a Unit Circle.

Graph of y=sinx Exploration
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What is the
period

of the Sine L/\FT

Function?

Parent Function: y = sinx

y = 3 sinx

3 times taller

Graph of y=asinbx Exploration

Parent Function: y = sinx

y = 2 sinx

Twice as tall




A Parent Function: y = sinx v Parent Function: y = sinx
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a = Vertical Stretch Factor —— Amplitude B
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If a<0 then there is an x-axis reflection. 21
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y = sin2x Period = /7/ y = sindx Period
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Find the amplitude and period for each Sine Function:

1. vy = 7smSx 2. y= f-l,\‘m%;
Amplitude= _’ Amplitude= Lf
Period= LT Period= zm _ b7
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y = asinbx

a = Amplitude

a<0 is an x-axis reflection (upside down)

— Period = LT

b



